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Turn in your GrHW #5 with work stapled to the back

But we're starting with the notes
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Warm-Up:
Find the y-intercept: f(x) = 2(x+1)?(x+2)%(x-1)?
(0-%) £(6)= 2(0*)*(0+2)(0-1)”
©=-3
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Theory:

Degree of polynomial is the same as the number of complex roots.
All non-real complex roots must oceur in pairs with their conjugate.

1. Writean equation of apolynomialwhose roots include 2 and 2 + 1.
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2. Createa function that has @nd vertical asymptotes at x = 2
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3. Createa function that has a hole at (2, -6) and vertical asymptotes at x = 1 and

x = -1
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4. Createa function that has x-interceptsat (-1,0) and (3, Q), vertical asymptotes
at x = 1 and x = 0 and a horizontal asymptote at y = 3.
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Homework: pg 343 # 75. pg 345 #28

Write the Equation: Best Guesdeay!
1) Hole at (-4, 2), va: x =1, x = -1

2) Hole at (3, 1/4), va: x =1

3) x-intercepts: (0,0), (2,0), va: =-3,x=1
ha: y =2
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